

A NOTE ON AN IDENTITY INVOLVING BINOMIAL COEFFICIENTS¹

BY ZAKKULA GOVINDARAJULU and YUKIO SUZUKI

(Received April 19, 1963)

1. Introduction and summary

Certain identities involving binomial coefficients have been found to be useful in probability theory and statistics. Feller [2] gives a list of such identities in his celebrated book on probability theory. While reading the paper by Birnbaum and Tingey [1] we found an identity which is a generalization of the identity used by Birnbaum and Tingey in order to prove an integral formula. We are not aware this identity has appeared in the literature and we also hope that this has some applications.

2. An identity involving binomial coefficients

RESULT 2.1. For any real δ we have

$$\sum_{j=0}^k (-1)^j \binom{k}{j} (\delta - j)^m = \begin{cases} 0, & 0 \leq m \leq k-1 \\ k!, & m = k \\ \sum_{i=0}^i \binom{k+i}{k+l} \delta^{i-l} g_k^{(k+l)}(0), & m = k+i \\ & i = 1, 2, \dots, \end{cases}$$

where $g_k^{(k+l)}(0) = \sum \frac{k!}{\gamma_0! \gamma_1! \dots \gamma_l!} \left(\frac{1}{2!}\right)^{\gamma_1} \left(\frac{1}{3!}\right)^{\gamma_2} \dots \left(\frac{1}{(l+1)!}\right)^{\gamma_l} (-1)^l (k+l)!$,

taking the summation over all $\gamma_0, \gamma_1, \dots, \gamma_l$ (non-negative integers) which satisfy $\sum_{i=1}^l i\gamma_i = l$ and $\sum_{i=0}^l \gamma_i = k$.

PROOF. Consider

$$(1) \quad f_0(x) = \sum_{j=0}^k (-1)^j \binom{k}{j} e^{(\delta-j)x} = e^{\delta x} (1 - e^{-x})^k.$$

Define

$$(2) \quad f_m(x) = \frac{d^m}{dx^m} f_0(x), \quad m = 1, 2, \dots.$$

1. This research was supported by the National Science Foundation Grant NSF-GP 569.

Then

$$f_m(x) = e^{\delta x} \sum_{j=0}^m \binom{m}{j} \delta^{m-j} \frac{d^j}{dx^j} (1 - e^{-x})^k$$

or

$$(3) \quad f_m(x) = e^{\delta x} \sum_{j=0}^m \binom{m}{j} \delta^{m-j} g_k^{(j)}(x),$$

where $g_k^{(j)}(x)$ is the j th derivative of $g_k(x) = (1 - e^{-x})^k$. Now, we have

$$(4) \quad g_k(x) = \sum_{j=0}^{\infty} \frac{g_k^{(j)}(0)}{j!} x^j$$

and also

$$(5) \quad g_k(x) = x^k \left(1 - \frac{x}{2!} + \frac{x^2}{3!} - \frac{x^3}{4!} + \dots \right)^k.$$

Expanding the right side of (5) in power series, we obtain

$$(6) \quad g_k(x) = \sum_{j=0}^{\infty} a_j x^j,$$

where $a_0 = a_1 = \dots = a_{k-1} = 0$, $a_k = 1$ and

for $l > 1$ (integer)

$$a_{k+l} = \sum_{\substack{\gamma_1 + 2\gamma_2 + \dots + l\gamma_l = l \\ \gamma_0 + \gamma_1 + \gamma_2 + \dots + \gamma_l = k}} \frac{k!}{\gamma_0! \gamma_1! \dots \gamma_l!} \left(\frac{1}{2!}\right)^{\gamma_1} \left(\frac{1}{3!}\right)^{\gamma_2} \dots \left(\frac{1}{(l+1)!}\right)^{\gamma_l} (-1)^l.$$

Comparing (4) and (6), we have

$$(7) \quad g_k^{(j)}(0) = 0, \quad j = 0, 1, 2, \dots, k-1,$$

$$g_k^{(k)}(0) = k!$$

$$g_k^{(k+l)}(0) = \sum_{\substack{\gamma_1 + 2\gamma_2 + \dots + l\gamma_l = l \\ \gamma_0 + \gamma_1 + \dots + \gamma_l = k}} \frac{k!}{\gamma_0! \gamma_1! \dots \gamma_l!} \left(\frac{1}{2!}\right)^{\gamma_1} \left(\frac{1}{3!}\right)^{\gamma_2} \dots \left(\frac{1}{(l+1)!}\right)^{\gamma_l} \\ \times (-1)^l (k+l)!.$$

From (3) and (7), we have

$$(8) \quad f_m(0) = 0, \quad m = 0, 1, 2, \dots, k-1$$

$$f_k(0) = k!$$

$$f_{k+i}(0) = \sum_{l=0}^i \binom{k+i}{k+l} \delta^{i-l} g_k^{(k+l)}(0), \quad i=1, 2, \dots$$

On the other hand, starting from the series definition of $f_0(x)$, we obtain

$$f_m(x) = \sum_{j=0}^k (-1)^j \binom{k}{j} (\delta-j)^m e^{(\delta-j)x}, \quad m=0, 1, 2, \dots,$$

and so

$$(9) \quad f_m(0) = \sum_{j=0}^k (-1)^j \binom{k}{j} (\delta-j)^m, \quad m=0, 1, 2, \dots$$

From (8) and (9) we have the desired result.

COROLLARY 2.1.1. For $0 \leq m \leq k-1$ and any real δ we have

$$\sum_{j=0}^k (-1)^j \binom{k}{j} (\delta-j)^{(m)} = 0$$

where $(\delta-j)^{(m)}$ denotes the product $(\delta-j)(\delta-j-1) \dots (\delta-j-m+1)$.

PROOF. Since $(\delta-j)^{(m)} = \sum_{l=0}^{m-1} S_{l,m} (\delta-j)^{m-l}$, with $S_{0,m} = 1$

where $S_{l,m}$ denote the sum of the products of l integers taken from the first $m-1$ positive integers, for $l=1, 2, \dots, m-1$. This expansion together with result 2.1 will yield the desired result.

Remark 2.1.1. Birnbaum and Tingey [1] use the identity in result 2.1 with $m=k-1$ and $\delta=N\varepsilon+k+1$ in order to show by induction that

$$\int_0^\varepsilon \int_{y_1}^{(1/N)+\varepsilon} \dots \int_{y_k}^{(k/N)+\varepsilon} dy_{k+1} \dots dy_2 dy_1 = \frac{\varepsilon}{(k+1)!} \left(\varepsilon + \frac{k+1}{N} \right)^k.$$

CASE INSTITUTE OF TECHNOLOGY, CLEVELAND, OHIO, U.S.A.
 INSTITUTE OF STATISTICAL MATHEMATICS, TOKYO, JAPAN*

REFERENCES

[1] Z. W. Birnbaum and Fred H. Tingey, "One-sided confidence contours for probability distribution functions," *Ann. Math. Statist.* Vol. 22 (1951) pp. 592-596.
 [2] William Feller, *An Introduction to Probability Theory and its Applications*, Vol. 1, second edition, John Wiley and Sons, Inc., New York (1957) pp. 61-63.
 [3] H. W. Gould, "Note on two binomial coefficient sums found by Riordan," *Ann. Math. Statist.* Vol. 34 (1963) pp. 333-335.

* Present address is Case Institute of Technology, Cleveland, Ohio, U.S.A.